
35790 / Riksha K-1 RK7 without water heater

Position

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

ItemNo

53165

53166

53167

53168

53169

53160

53170

53159

53171

53172

53173

53174

53175

53176

53158

53157

53177

53156

52649

53155

53154

53178

53179

53180

53153

53181

53182

53183

53184

33431

53152

41474

41474

33441

33452

33426

53185

53186

53151

53187

53188

53150

48424

53149

53148

53147

53189

Description

Awning

Awning Frame 1

Fixing knob

Awning Frame 2

Wing Screw M8

Lamp

Roof post

Front glass

Screw M6x16

Cap nut M6

Cable cover

Spacer sleeve 10x11

Chrome nut

Spacer sleeve 6x18

Left glass side

Right glass side

Cone washer

Screw M6X30

LED Light

Door

Lock

Pump

Kitchen sink faucet

Perlator

Plexiglass cover

Water container

Pump power supply

Scrubber spout

Spout ball

Power Switch (Red)

Sensor cover

Temperature sensor

Temperature sensor

Light Switch (Green)

Power Supply

Thermostat

Front evaporator

Front heater cover

Evaporator cover

Rear evaporator

Rear heater cover

Heater

Ice Cream Container

Electrical Box Cover

Electrical box

Wheel

Wheel cover



35790 / Riksha K-1 RK7 without water heater

49

50

51

52

53

54

55

56

57

58

59

60

61

53190

53143

33458

41458

52828

48437

43097

53144

53145

53146

42990

48452

Caster foot

Wheel with brake

Tubular Heater

Pressostat

Compressor

Electrovalve

Condenser filter

Condenser

Condenser cover

Condensate container

Condenser motor propeller

Evaporator Motor

2024-02-08



35790 / Riksha K-1 RK7 without water heater


